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USING RECORDS FOR PLANNING AND ANALYSIS

AG 660 - K

UNIT OBJECTIVE

After completion of this unit, students should be able to describe information that can be included in enterprise records.  Students should also be able to describe analysis methods and be able to make necessary efficiency calculations.  This knowledge will be demonstrated by completion of the assignment sheet and unit test with a minimum of 85 percent accuracy.

SPECIFIC OBJECTIVES AND COMPETENCIES

After completion of this unit, the student should be able to:

1.
Match terms associated with using records for planning and analysis to their correct definitions.
2.
Describe three purposes of enterprise records.

3.
List five items of planning information that can be included in enterprise records.

4.
List three reasons for keeping records of farm products used at home.

5.
Describe three ways to allocate overhead expenses to the various enterprises.

6.
List four steps in finding and correcting errors in records.

7.
Select factors for measuring livestock and crop efficiency.

8.
Calculate efficiency factors for crops and livestock.

9.
Compare the efficiency of two agribusiness enterprises.
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SUGGESTED ACTIVITIES

I.
Suggested activities for the instructor

A.
Order materials to supplement unit.

1.
Literature

a.
Financial Analysis of Proposed Farm Adjustments with a Partial Budget, available from Agricultural Communications Center, Ag Publications Building, University of Idaho, Moscow, Idaho  83843-4196, (208-885-7982); approximate cost $.50; order no. WREP 104.

B.
Make transparencies and necessary copies of materials.

C.
Provide students with objectives and discuss.

D.
Provide students with information and assignment sheets and discuss.

E.
Obtain copies of production records and enterprise records to show to the students.  A possible source could be the local Production Credit Association.

F.
Invite an agribusiness person who uses detailed production and/or enterprise records to bring them in and show the students how they are used to improve business decisions.

G.
Invite the manager of a local PCA to demonstrate the use of records for determining whether a particular loan is a good risk.

H.
Have several students with livestock records bring their weight and breeding records to class and show how they can be compared to measure efficiency.

I.
Arrange a demonstration of a computer analysis of records.

J.
Have students analyze the efficiency of their own SOE project.

K.
Review and give test.

L.
Reteach and retest if necessary.

II.
Instructional materials

A.
Objective sheet

B.
Suggested activities

C.
Information sheet

D.
Transparency masters

1.
TM 1--Enterprise Records/Livestock

2.
TM 2--Enterprise Records/Livestock Breeding and Mortality

3.
TM 3--Enterprise Records/Crops

4.
TM 4--Enterprise Records/Daily

E.
Assignment sheet

1.
AS 1--Compare the Efficiency of Two Agribusiness Enterprises

F.
Answers to assignment sheet

G.
Test

H.
Answers to test

III.
Unit references
A.
Farm Business Management Curriculum Guide, Instructional Material Year I, State Department of Vocational and Technical Education, Instructional Materials Center, Stillwater, Oklahoma.

B.
Farm Business Management Curriculum Guide, Instructional Material Year II, State Department of Vocational and Technical Education, Instructional Materials Center, Stillwater, Oklahoma.

C.
Instructional Materials for Vocational Agriculture III and IV, Teaching Materials Center, Agricultural Education Department, Texas A & M University, College Station, Texas. 
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INFORMATION SHEET

I.
Terms and definitions

A.
Enterprise--An individual, recognizable part of an agribusiness

Examples:
Cow-calf operation, wheat crop, feeder pigs

B. Enterprise analysis--Careful study of an enterprise to determine how efficient it really is

C.
Enterprise records--Records kept on an individual part of the agribusiness

D.
Production--That which is actually generated on the farm

Examples:
Weight gained by steers, bushels of crop produced

E.
Mortality rate--Relative frequency of death

F.
Overhead--Costs not distinctly related to a single enterprise or portion of an enterprise; ordinarily, they occur regardless of the quantity of production within a specified time period

Examples:
Taxes on real estate, mortgage interest, depreciation and upkeep or improvements on machinery, labor of the operator or the family, general farm utility bills

G.
Efficiency--Relative ability of an enterprise to turn resources such as land, labor and capital into a product

H.
Allocate--To assign a certain resource to a specific enterprise

I.
Weaning weight--Animal weight at the time the animal is taken away from its mother

J.
Transaction--Business exchange, usually involving money

II.
Purposes of enterprise records

A.
Show how much each part of the business is contributing to the total profit

B.
Provide comparison of an enterprise to the same enterprise on other farms or to industry standards

C.
Help manager decide how to use scarce resources such as land, labor and capital

Example:
If enterprise records indicate sheep are making more profit than the cattle, the manager might decide to cut back on the cattle enterprise and increase the sheep enterprise

D.
Help manager pinpoint practices which improve profit

III.
Information useful for planning  (Transparencies 1, 2, 3, 4)

A.
Amount of feed used

B.
Amount of production obtained

Examples:
Weight gain, crop yield

C.
Amount of space, buildings or land used

D.
Health practices applied

Example:
Records could show a high calf mortality rate caused by pneumonia.  This might point to a need for better shelter or nutrition

E.
Amount of labor used

F.
Amount and types of fertilizer applied

(Note:  Records can show what has been applied in the past and what response was obtained.)

G.
Amount and types of pesticides applied

H.
Type of crop rotation and cultivation practices used

I.
Varieties of crop planted

Example:
A good record could show a certain variety of wheat did well when planted early in the spring, but did poorly when planted later while another variety was not as affected by time of planting

J.
Amount of money or credit used

IV.
Reasons for keeping records of farm products used at home

A.
Needed for balancing other records such as the livestock production summary

(Note:  If products used at home are not included in the enterprise records, then production expenses will be overstated and returns will be understated.)

B.
Needed for figuring income tax

(Note:  Products used at home are not considered taxable income.  If the products are not reported as income, however, expenses incurred in production are not deductible.  If the expenses are deducted then the products must be considered as income.)

C.
Needed for calculating total farm production or net farm income

V.
Methods of allocating overhead expenses to enterprises

(Note:  Overhead expenses are costs that are not directly linked to an enterprise, such as property taxes, electricity or building costs.  There is no perfect method of allocating these costs, but a true picture of profitability cannot be obtained unless these costs are considered.)

A.
In proportion to the total value of production generated by each enterprise

Example:
If wheat, sheep and cattle contributed 60, 20 and 20 percent of the total value of production respectively, then overhead expenses such as property taxes would be allocated 60% to the wheat, 20% to the sheep and 20% to the cattle

B.
According to the percentage of space used by the enterprise

C.
According to custom rates

Example:
If the custom rate for combining is $25 per acre and the wheat enterprise is 150 acres and the barley enterprise is 250 acres, then the combining costs allocated to the wheat would be $3,750 (150 x 25) and the combining costs allocated to the barley would be $6,250 (250 x 25)

VI.
Steps to take in finding and correcting errors in records

A.
Look over totals to determine if they are reasonable

Example:
The sheep enterprise consists of 3 sheep, but the expenses recorded for hauling sheep are $300.00

B.
Check mathematical calculations

C.
Check to see if figures were transferred correctly

D.
Correct mistakes and make sure they are corrected in all affected places in the record book

Example:
A mistake in the mortality record could also result in an incorrect closing inventory

VII.
Factors for measuring livestock and crop efficiency

(Note:  Information used to determine enterprise efficiency is usually kept in production records.  These records keep track of actual production items such as weight gained, bushels of grain produced, number of calves weaned, mortality rate and fertilizer applied.)

A.
Crops

1.
Yield per acre

2.
Value of crops per acre

3.
Machinery cost per acre

4.
Fertilizer and chemical cost per acre

5.
Total production cost per acre

6.
Total production cost per unit of production

(Note:  Units may be bushels, pounds, tons, etc.)

Example:
A cost of $95 per ton for producing barley

B.
Livestock

1.
Total cost to produce 100 pounds of gain

2.
Feed cost per 100 pounds of gain

3.
Pounds of grain fed per pound of gain

4.
Average weaning weight

5.
Weight weaned per cow

6.
Percent of calf or lamb crop

Example:
If 100 cows had 90 calves, the calf crop percentage would be 90%

7.
Average daily gain

8.
Pigs farrowed per litter


9.
Pigs weaned per litter

C.
Dairy
1.
Number of cows in production

2.
Average milk production per cow

3.
Average butterfat production per cow

4.
Average butterfat percentage for the herd

5.
Feed cost per pound of milk produced

VIII.
Calculations for selected efficiency factors

A.
Yield per acre =
    Total yield     


Number of acres

B.
Value of crops per acre =
    Total value of crops 

Number of acres

C.
Total production cost per unit = 
   Total production costs

Number of production units

Example:
Total production cost for wheat enterprise--$15,600

Number of bushels of wheat produced   --  4,800

$15,600   = $3.25 production cost per bushel

4,800

D.
Total cost to produce 100 pounds of gain =    Total cost        x 100

Total gain

E.
Pounds of grain per pound of gain  =     Total pounds of grain fed   

Total pounds of gain

F.
Average weaning weight  =     Total pounds of calves weaned   

Number of calves weaned

G.
Average daily gain  =     Ending weight - beginning weight
Number of days on feed
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ASSIGNMENT SHEET #1--COMPARE THE EFFICIENCY OF TWO AGRIBUSINESS

ENTERPRISES

Name

Score


Size and total money coming in are not necessarily the best methods of determining the efficiency of an agribusiness.  A large operation may be making costly mistakes that reduce its potential even though it may be making more total dollars than a smaller business.  A smaller business may be spending more money to produce each unit because of inefficient use of machinery or labor.  The following exercise should help you learn to analyze the "real" efficiency of agribusiness enterprises.

Using the information provided in the unit, make the necessary calculations on the two beef enterprises described.  Then decide which enterprise is the most efficient and write a short paragraph supporting your decision.

The Tummy-Tickling Beef Company and the Insta-Steak Feeders are two agribusinesses involved in raising feeder beef for slaughter.  The following information was compiled on these operations for the past year:

Tummy-Tickling
Insta-Steak

Beef Company
Feeders

______________________________________________________________________________________

Total animals purchased
75
150

Purchase price per cwt
$70.00
$68.00

Purchase weight per animal
450 lbs
450 lbs

Total feed cost
$17,865.00
$42,540.00

Days on feed
230
250

Selling weight per animal
1,050 lbs
1,100 lbs

Selling price per cwt
$62.00
$62.00

Other production costs

(not including feed)
$4,500.00
$10,635.00

Total pounds of grain
261,000 lbs
636,000 lbs

Gross income
$48,825.00
$102,300.00

(Note:  Tummy-Tickling fed 1.4 tons of corn silage at $15/ton, 1.5 tons of corn at $100/ton and 480 lbs of supplement at $14/cwt to each animal.  Insta-Steak fed .4 tons of alfalfa hay at $75/ton, 2 tons of barley at $110/ton and 240 pounds of supplement at $14/cwt to each animal.)

Calculations necessary for making comparisons of efficiency:

Tummy-Tickling
Insta-Steak

Beef Company
Feeders
Total net income





Total production cost

(Does not include purchase price)




Total production cost per animal

(Does not include purchase price)




Total pounds gained per animal




Total pounds gained




Average daily gain per animal




Pounds of grain per pound of gain




Total cost per pound gained





(cost does not include purchase price)

Which operation was the most efficient


Explain: 
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ANSWERS TO ASSIGNMENT SHEET

Assignment Sheet #1

Tummy-Tickling
Insta-Steak

Beef Company
Feeders

Total net income
$2,835.00
$3,225.00
Total production cost
(feed cost and other cost)
$22,365.00
$53,175.00

Total production cost per animal
$298.20
$354.50

Total pounds gained per animal
600 lbs
650 lbs

Total pounds gained
45,000 lbs
97,500 lbs

Average daily gain per animal
2.61 lbs
2.6 lbs

Pounds of grain per pound of gain
5.8 lbs
6.5 lbs

Total cost per pound gained
$.50
$.55

Tummy-Tickling Beef Company was most efficient.

The Tummy-Tickling Company used less grain per pound of gain than did the other company.  Tummy-Tickling also had less cost per pound gained than did the other company.  The two companies had about the same weight gain per day, although Tummy Tickling was slightly better.  This would be expected, however, since the Insta-Steak Company fed their animals to a heavier weight and animals are less efficient grain users, as they get heavier.
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UNIT TEST

Name

Score


1.
Match the terms on the right to their correct definitions.  Write the correct numbers in the blanks provided.

_____a.
An individual, recognizable part of an agribusiness
1.
Production

_____b.
Careful study of an enterprise to determine how
2.
Allocate

efficient it really is

3.
Overhead

_____c.
To assign a certain resource to a specific enterprise

4.
Enterprise analysis

_____d.
Animal weight at the time the animal is taken away

from its mother
5.
Enterprise records

_____e.
Relative ability of an enterprise to turn resources
6.
Transaction

such as land, labor and capital into a product

7.
Weaning weight

_____f.
Records kept on an individual part of the agribusiness

8.
Efficiency

_____g.
Business exchange, usually involving money

9.
Mortality rate

_____h.
That which is actually generated on the farm

10.
Enterprise

_____i.
Relative frequency of death

_____j.
Costs not distinctly related to a single enterprise or

portion of an enterprise; ordinarily, they occur 

regardless of the quantity of production within a 

specified time period

2.
Describe three purposes of enterprise records.

a. 


b. 


c. 



3.
List five items of planning information that can be included in enterprise records.

a. 


b. 


c. 


d. 


e. 


4.
List three reasons for keeping records of farm products used at home.

a. 


b. 


5.
Describe three ways of allocating overhead expenses to the various enterprises.

a. 


b. 


c. 


6.
List four steps in finding and correcting errors in records.

a. 


b. 


c. 


d. 


7.
Select factors for measuring livestock and crop efficiency by placing a "C" before the statements indicating a crop efficiency measure and an "L" before the statements indicating a livestock efficiency measure.  Some of the statements are not measures of efficiency.

_____a.
Number of acres

_____b.
Total production cost per acre

_____c.
Average weaning weight

_____d.
Pounds of grain fed per pound of gain

_____e.
Pigs weaned per litter

_____f.
Percent of calf or lamb crop

_____g.
Animal selling weight

_____h.
Gross income

_____i.
Fertilizer and chemical cost per acre

_____j.
Value of crops per acre

_____k.
Cost to produce 100 pounds of gain

_____l.
Yield per acre

_____m.
Average daily gain

_____n.
Animal purchase price

_____o.
Pigs farrowed per litter

_____p.
Machinery cost per acre

_____q.
Total weight of crop

_____r.
Feed cost per 100 pounds of gain

_____s.
Animal sale price

_____t.
Weight weaned per cow

8.
Calculate efficiency factors for crops and livestock in the examples below.

a.
100 tons of barley was produced on 50 acres of land.

Yield per acre = 


b.
6,000 bushels of wheat were produced on 100 acres of land and sold for $4.00 per bushel.

Value of crops per acre = 


c.
50,000 pounds of beans were produced.  The total production cost was $9,000.

Total production cost per unit = 


d.
3,000 pounds of grain were fed to get a weight gain of 500 pounds.

Pounds of grain per pound of gain = 


e.
The beginning weight was 300 pounds and the ending weight was 810 pounds.  The number of days on feed was 170 days.

Average daily gain = 
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ANSWERS TO TEST

1.
a.
10
d.
7
g.
6
j.
3

b.
4
e.
8
h.
1

c.
2
f.
5
i.
9

2.
Answer should include three of the following:

Show how much each part of the business is contributing to the total profit; Provide comparison of an enterprise to the same enterprise on other farms or to industry standards; Help manager decide how to use scarce resources such as land, labor and capital; Help manager pinpoint practices which improve profit

3.
Answer should include five of the following:

Amount of feed used; Amount of production obtained; Amount of space, buildings or land used; Health practices applied; Amount of labor used; Amount and types of fertilizer applied; Amount and types of pesticides applied; Type of crop rotation and cultivation practices used; Varieties of crop planted; Amount of money or credit used

4.
Needed for balancing other records such as the livestock production summary; Needed for figuring income tax; Needed for calculating total farm production or net farm income

5.
In proportion to the total value of production generated by each enterprise; According to the percentage of space used by the enterprise; According to custom rates

6.
Look over totals to determine if they are reasonable; Check mathematical calculations; Check to see figures were transferred correctly; Correct mistakes and make sure they are corrected in all affected places in the record book

7.
a.
---
h.
---
o.
L

b.
C
i.
C
p.
C

c.
L
j.
C
q.
---

d.
L
k.
L
r.
L

e.
L
l.
C
s.
---

f.
L
m.
L
t.
L

g.
---
n.
---

8.
a.
2 tons (100 tons/50 acres)

b.
$240 (6,000 bu x $4.00/100 acres)

c.
$.18 ($9,000/50,000 pounds)

d.
6 pounds (3,000 pounds of grain/500 pounds of gain)

e.
3 pounds (810 pounds - 300 pounds = 510 pounds/170 days)

